Advanced Higher Accounting Question paper 2023 Candidate evidence

Question 1b Statement of Cash Flow

Candidate A evidence

Worksheet for Question 1

Statement of Cash Flows for Fine Tech plc for year ended 31 December Year 6
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Candidate B evidence

Worksheet for Question 1
Statement of Cash Flows for Fine Tech pic for year ended 31 December Year 6
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Question 2 Part A Variances

Candidate C evidence

2 PART A
(a) (i) Total material cost variance

Material Usage variance

Material price variance

(i) labour cost variance
labour efficiency variance

labour rate variance

(i) variable overhead efficiency variance

variable overhead expenditure variance

fined overhead volume variance

fixed overhead expenditure variance

(b) (i) Actual Quantity =

Standard Quantity - [material usage variance/stanadard price)

(i) Actual Price per kg =

43000 kg

Standard price - (material price variance/Actual Quantity)

E

(iii} standard hours
standard rate
actual hours
actual rate

labour efficiency

(iv} actual labour cost
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4.80

9350 {35000/20000*22000*5)-(183150)
Favourable

7500 {(35000/20000*22000)-37000)*5
Favourable

1850 (5-183150/37000)*37000
Favourable

11100 (9.5*76000/20000*22000)-783100
Favourable
15200 (76000/20000°22000-82000)*9.5
Favourable
-4100 (9.5-783100/82000)*82000
Adverse

5760 (76000/20000* 22000-82000)*273600/76000
Favourable
-3800 (82000*273600/76000)-299000
Adverse
19000 130000/20000*22000-190000
Favouarble
-7500 190000-197500
Adverse

35000/20000*24000-(-5000/5)

5-(8600/43000)
‘91200 76000,/20000*24000
9.5
90000 working in answer book
9.55 working in answer book

11400 Favourable

858,500
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Candidate D evidence
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Question 3¢ Consolidated
Statement of Financial Position

Candidate E evidence

Candidate evidence

o
Consolidated Statement of Finandal Postian

God will

Mon curment AsIets
Tangibla
Investrrent in Duffy

Current Assets

Irventory |11800+5400-143041

Trade Recehables

Cash and Cash Equivalents (17600-1440+1500)
Current Account [owed By Duty Ple)

Total Assets

Current Liabities

Trade Payablas

Other Payables

Cash and Caszh Equivalents

Current Account {Owed to Napler Pic)

Non Current Liabilities
Debentures

Total Liabdities

MET AsLaty

Equity and Resarves
(Ordinary Shares
Share Premium
Retained Earning

Napier :Dufﬁr Consobidated
€ 50,016.00
€ 882300.00 £ 140,000.00 £ 1022,300.00
£ 160,00000
£ 1180000 £ 640000 £  3,896.00
£ 1120000 £ 1048000 £  21,680.00
(£ 17,600.00 £ 1766000
E 6,000.00
£ 108890000 £ 15688000 £ L115.3532.00
£ 60000 £ 700000 £  13,000.00
E 100000 £ 30000 £ 1,300.00
£ 1,840.00
£ 450000
E 000000 £ 2000000 £ 50,000.00
£ 3700000 £ 3324000 £ £4.300.00
£ 1051,900.00 £ 12364000 £ 1051 ¥52.00
£ 80000000 £ 100,000.00 £ 800,000.00
E 80,000.00 £ 1000000 £ B0,000.00
E 17190000 £ 1364000 £ 136100.00
£ 105190000 £ 12364000 £ 101610000
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